~

=
o

[e2]

=
o

IS

=
o

=
o
w

900 GeV ppbar Soft QCD
I I I | I I I I

Charged Particle sl Spectrum(UA1 4<p|<8)

! I IIIIIﬂ] I IIIIIﬂ]

Rivet 3.1.10, = 2.7M events

E d®o/dp? [micro b,GeV?]
H
o

=
o
N

=
o

m UAl
--=-- Pythia 6.428 359
—4A— Pythia 6.428 370
Pythia 6.428 a
--%-- Pythia 6.428 dw m
—o— Pythia 6.428 p0

Ratio to UA1

0.5

----- ¥ Pythia 6.428 pro-q20

T T TTJTTTIT]TTT] IIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIIIIﬂ] [T

| IIIIIIII| L1 IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIllI IIIIIIllI IIIIIIllI IIIIIIllI IIIIIIllI L

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


